1) The sphenoid bone

A Articulates with the occipital bone

B Forms most of the anterior cranial fossa floor

C Has two wings separated by the inferior orbital fissure
D Is grooved by the internal carotid artery

E Has its overlying dura innervated by nervus spinosus (meningeal branch of the mandibular nerve)

A True
B False
C False
D True

E True

2) The paranasal sinuses

A Consist of five main pairs of sinuses

B Are all present at term

C Include one that may extend into the lesser wing of the sphenoid
D May indent the lateral nasal wall

E May include a small sinus in the palatine bone

A False
B False
C True
D True

E True



